












REFUSNIK

10 SYMBOL
195,98
20 SYMBOL

2

30 symBOL
92

40 SYMBOL
(126,60
50 SYMBOL
50

60 SYMBOL
40

70 SYMBOL
2

80 SYMBOL
103

90 SYMBOL
254

100 MODE 1:PAPER O:PEN 1:INK 0,10:1
NK 1,261 BORDER 10

110 PRINT " CHARGEUR DE R"+CHR$ (247
J+"FUBNI"+CHR$ (248) : PRINT

120 PRINT " VERSION 2.984"

130 PRINT:PRINT STRING$(19,32)+"CRE
ATION DU "+CHR$(252)CHR$ (251) CHR$ (2
S0)CHR$(249) " "CHR$(255) CHR$ (254) CH
R$(253) CHR$(253)

140 V=1:12200:VL=0

fl 150 FOR T=36900 TO 38526:READ A$:A=

255,112,176,54,123,50,124
254,12,4,48,28,24,24,56,1
253,48,24,13,22,54,54,54,
252,39,78,218,218,210,227
251,69,62,30,6,62,102,127
250,22,59,27,27,27,30,24

249,8,24,62,24,24,24,58,1
248,103,102,54,30,54,102

247,254,140,44,60,44,140,

£27231

21371

[2149]

(26711

[19911

[2414]

[21991

[2043]

[23561

(33671

[2946]

[1722]
(7389]

[11731
[33801

VAL ("&"+A$) 1 VL=VL+A1POKE T,A

160 V=V+11IF V=80 THEN I=I+10:1V=01R
EAD A$:IF A$<OHEX$(VL) THEN PRINT *
ERREUR EN LIBNE "j;I31END ELSE VL=0:P
RINT “LIGNE";I ;"CORRECTE":PRINT
170 NEXT

180 I=I+10:READ AS$:IF A$COHEXS$ (VL)
THEN PRINT "ERREUR EN LIGNE ";I:END
ELSE VL=0:PRINT "LIGNE";I ;"CORREC
TE®

190 SAVE"REFUSNIK",B,36900,1625

200

R T

EEEERRERRS

210 DATA CD,CC,BB,CD,CC,BB,CD,CC,BB
,C9,F5,CD,1A,BC,F1,E5,16,0,5F,CB,23
,CB,12,CB,23,CB,12,CB,23,CB,12,CB, 2
3,CB,12,21,7B,96,19,EB,E1,1,FF,7,CD
,70,90,9,CD,70,90,9,CD,70,90,9,CD,7
9,90,9,CD,70,90,9,CD,70,90,9,CD,70,
90,9,CD,70,90,C9,1A,77,13,2806

220 DATA 23,1A,77,13,C9,11,7C,96,3E
,0,6,FF,C5,FS5,CD,8D,90,F1,C1,3C, 10,
F6,CD,8D,90,C9,D5,CD,AS,BB,6,4,CD,6
1B9,D1,F5,EB,6,8,1A,77,ED,4F 28,77

23,23,23,13,10,F4,EB,F1,CD,C,B9,C9,
F5,CD,78,BB,2D,25,25,CD,1A,BC,F1,ES
,CD,AS BB, EB,6,4,E1,CD,6,B9,2952

[10726]

(3501
(85071

[21331
(16711

[123241

(121571

137



